Math 120: Midterm 3 Formulas

Trig Rules: Inverse trig derivatives:
1. sin?z +cos’z =1 L & (sin~(2)) = =
2 2. _ _
2. secx —tan“z =1 2. % (cos™'(z)) = — 1£x2
3. sinx = 1(1 — cos(2z .
3 (22)) 3. 4 (tan~\(x)) = 1l
4. cos?x = 1(1 + cos(2z _
3 (22)) 4. L (ese™N(z) = ——A—
5. sinzcosz = 3 sin(2z)
2 _
5. % (sec™H(z)) = z\/%
Trig integrals:
6. < (cot™(2)) = — 352

1. fsin:zc dr = —cosx +C

Exponential integrals:
2. [cosz dz =sinz+ C

L [b"de=L+C

3. [tanz dz = —In|cosz| + C
2. [ebr dx =< 4 C
4. [secx dx =In|secx + tanz|+ C St du =5
: A few sums:
5. [cotx dv =In|sinz|+ C
" (n+1n
6. [cscax de =1In|csca — cotz| + C L. ZZ:T
i=1
7. [sec?z dx =tanz + C

5 iiZ _ 2n+1)(n+ 1)n

8. [esc?x de = —cotx+C 6

=1

©

. [secaxtanz dr = secx + C " (n+1)n 2
3. E 77 = | ——
10. [cescaxcotr due = —cscax + C — 2



